PROJECT 5-24 KENNETH AVENUE AREA UTILITY RELAY

UNIT A - SANITARY SEWERS & LATERALS

KENNETH AVENUE	· · · · · · · · · · · · · · · · · · ·				Feaker		Kruczek		Carl B	lowers	DeG	Groot	Jos	sart	PTS Contr	ractors.Inc	Dorne	ar Inc	David Tenor	Corporation
ITEM DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	TOTAL PRICE																
A1 Furnish and Install 8" PVC Sanitary Sewer, 1610 lineal feet, more or less, all complete for:	1610	LF	\$73.00	\$117,530.00	\$60.00	\$96,600.00	\$55.75	\$89,757.50	\$70.00	\$112,700.00	\$69.60	\$112,056.00	\$70.00	\$112,700.00	\$72.00	\$115,920.00	\$68.00	\$109,480.00	\$101.00	\$162,610.00
A2 Furnish and Install 48" Diameter Sanitary Manhole, 62 vertical feet, more or less, all complete for:	62	VF	\$490.00	\$30,380.00	\$605.00	\$37,510.00	\$770.00	\$47,740.00	\$525.00	\$32,550.00	\$640.06	\$39,683.72	\$615.00	\$38,130.00	\$675.00	\$41,850.00	\$628.00	\$38,936.00	\$665.00	\$41,230.00
A3 Furnish and install Sanitary Sewer Main and Manhole Construction Staking, 1 Lump Sum, more or less, all complete for:	1	LS	\$2,000.00	\$2,000.00	\$1,155.00	\$1,155.00	\$1,185.00	\$1,185.00	\$1,200.00	\$1,200.00	\$1,313.00	\$1,313.00	\$1,400.00	\$1,400.00	\$1,185.00	\$1,185.00	\$1,215.00	\$1,215.00	\$1,200.00	\$1,200.00
A4 Abandon Sanitary Sewer Manhole, 2 each, more or less, all complete for	2	EA	\$2,500.00	\$5,000.00	\$400.00	\$800.00	\$700.00	\$1,400.00	\$500.00	\$1,000.00	\$656.50	\$1,313.00	\$600.00	\$1,200.00	\$350.00	\$700.00	\$500.00	\$1,000.00	\$1,400.00	\$2,800.00
A5 Abandon 8" Sanitary Sewer , 629 linear feet, more or less, all complete for	629	LF	\$25.00	\$15,725.00	\$6.50	\$4,088.50	\$9.00	\$5,661.00	\$8.00	\$5,032.00	\$6.06	\$3,811.74	\$7.00	\$4,403.00	\$4.00	\$2,516.00	\$5.00	\$3,145.00	\$9.00	\$5,661.00
Furnish and install 4" PVC laterals in public right of way, 420 lineal feet, more or less, all complete for:	420	LF	\$63.00	\$26,460.00	\$56.00	\$23,520.00	\$54.75	\$22,995.00	\$57.00	\$23,940.00	\$52.14	\$21,898.80	\$77.00	\$32,340.00	\$102.00	\$42,840.00	\$78.00	\$32,760.00	\$120.00	\$50,400.00
Furnish and install 6" PVC laterals in public right of way, 100 lineal feet, more or less, all complete for:	100	LF	\$71.00	\$7,100.00	\$60.00	\$6,000.00	\$58.75	\$5,875.00	\$60.00	\$6,000.00	\$53.53	\$5,353.00	\$82.00	\$8,200.00	\$106.00	\$10,600.00	\$83.00	\$8,300.00	\$125.00	\$12,500.00
A8 Furnish and install 4" PVC private laterals excavated, 100 lineal feet including turf restoration, more or less, all complete for:	100	LF	\$34.00	\$3,400.00	\$60.00	\$6,000.00	\$65.00	\$6,500.00	\$30.00	\$3,000.00	\$75.75	\$7,575.00	\$77.00	\$7,700.00	\$90.00	\$9,000.00	\$53.00	\$5,300.00	\$65.00	\$6,500.00
A9 Furnish and install 6" PVC private laterals excavated, 50 lineal feet including turf restoration, more or less, all complete for:	50	LF	\$44.00	\$2,200.00	\$64.00	\$3,200.00	\$84.00	\$4,200.00	\$40.00	\$2,000.00	\$80.80	\$4,040.00	\$82.00	\$4,100.00	\$94.00	\$4,700.00	\$61.00	\$3,050.00	\$70.00	\$3,500.00
A10 Furnish and Pipe Burst 4" HDPE Private lateral to interior cleanout <u>without</u> WATER set-up, 200 lineal feet, more or less, all complete for:	200	LF	\$7.00	\$1,400.00	\$5.00	\$1,000.00	\$5.00	\$1,000.00	\$5.00	\$1,000.00	\$5.30	\$1,060.00	\$5.25	\$1,050.00	\$5.00	\$1,000.00	\$5.30	\$1,060.00	\$5.15	\$1,030.00
Furnish and Pipe Burst 6" HDPE Private lateral to interior cleanout without WATER set-up, 50 lineal feet, more or less, all complete for:	50	LF	\$9.00	\$450.00	\$7.00	\$350.00	\$7.00	\$350.00	\$7.00	\$350.00	\$7.42	\$371.00	\$7.35	\$367.50	\$7.00	\$350.00	\$7.40	\$370.00	\$7.21	\$360.50
Mid Pit Excavations for Sanitary Sewer Lateral replacement without WATER set-up, 10 each, more or less, all complete for:	10	EA	\$650.00	\$6,500.00	\$1.00	\$10.00	\$1.00	\$10.00	\$1.00	\$10.00	\$1.06	\$10.60	\$1.05	\$10.50	\$1.00	\$10.00	\$1.00	\$10.00	\$1.03	\$10.30
Furnish and install new interior cleanout <u>without</u> WATER set-up, including all interior connections, 13 Each, more or less, all complete for:	13	EA	\$2,850.00	\$37,050.00	\$2,750.00	\$35,750.00	\$2,800.00	\$36,400.00	\$2,750.00	\$35,750.00	\$2,916.38	\$37,912.94	\$2,900.00	\$37,700.00	\$2,830.00	\$36,790.00	\$2,900.00	\$37,700.00	\$2,832.50	\$36,822.50
Furnish and Pipe Burst 4" HDPE Private lateral with WATER set-up, 100 lineal feet, more or less, all complete for:	100	LF	\$6.50	\$650.00	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00	\$5.30	\$530.00	\$5.25	\$525.00	\$5.00	\$500.00	\$5.30	\$530.00	\$5.15	\$515.00
Furnish and install new interior cleanout <u>with</u> WATER set-up, including interior connections, 10 each, all complete for:	10	EA	\$1,200.00	\$12,000.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00	\$1,060.50	\$10,605.00	\$1,050.00	\$10,500.00	\$1,028.00	\$10,280.00	\$1,055.00	\$10,550.00	\$1,030.00	\$10,300.00
Furnish exterior connection for pipe bursting, including all restoration, 5 each, more or less, all complete for:	5	EA	\$1,750.00	\$8,750.00	\$2,000.00	\$10,000.00	\$2,000.00	\$10,000.00	\$2,000.00	\$10,000.00	\$2,121.00	\$10,605.00	\$2,100.00	\$10,500.00	\$2,055.00	\$10,275.00	\$2,110.00	\$10,550.00	\$2,060.00	\$10,300.00
Furnish and install new floor drain, including clean up and restoration, 10 each, more or less, all complete for:	10	EA	\$150.00	\$1,500.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$106.05	\$1,060.50	\$105.00	\$1,050.00	\$102.00	\$1,020.00	\$105.00	\$1,050.00	\$103.00	\$1,030.00
A18 Furnish and install backflow valve, including all associated work, 10 each, more or less, all complete for:	10	EA	\$300.00	\$3,000.00	\$200.00	\$2,000.00	\$200.00	\$2,000.00	\$200.00	\$2,000.00	\$212.10	\$2,121.00	\$210.00	\$2,100.00	\$205.00	\$2,050.00	\$210.00	\$2,100.00	\$206.00	\$2,060.00
A19 Furnish and Install sump pit, including all associated work, 5 each, more or less, all complete for:	5	EA	\$650.00	\$3,250.00	\$250.00	\$1,250.00	\$255.00	\$1,275.00	\$250.00	\$1,250.00	\$265.13	\$1,325.65	\$263.00	\$1,315.00	\$257.00	\$1,285.00	\$265.00	\$1,325.00	\$257.50	\$1,287.50
A20 Provide televising for all new sanitary sewer main, 1610 lineal feet, more or less, all complete for:	1610	LF	\$1.25	\$2,012.50	\$1.65	\$2,656.50	\$1.30	\$2,093.00	\$2.00	\$3,220.00	\$1.73	\$2,785.30	\$1.40	\$2,254.00	\$1.70	\$2,737.00	\$1.40	\$2,254.00	\$1.36	\$2,189.60
A21 Provide televising for all new sanitary sewer laterals, 13 each, more or less, all complete for:	13	EA		\$0.00	\$135.00	\$1,755.00	\$137.00	\$1,781.00	\$95.00	\$1,235.00	\$141.40	\$1,838.20	\$140.00	\$1,820.00	\$135.00	\$1,755.00	\$145.00	\$1,885.00	\$139.00	\$1,807.00
			UNIT A TOTAL	\$286,357.50	UNIT A TOTAL	\$245,145.00	UNIT A TOTAL	\$251,722.50	UNIT A TOTAL	\$253,737.00	UNIT A TOTAL	\$267,269.45	UNIT A TOTAL	\$279,365.00	UNIT A TOTAL	\$297,363.00	UNIT A TOTAL	\$272,570.00	UNIT A TOTAL	\$354,113.40

UNIT B - WATER MAINS & SERVICES	UNIT B - WATER MAINS & SERVICES																			
KENNETH AVENUE			ENGINEERS	ESTIMATE	Feaker TOTAL PRICE		Kru	czek	Carl B	owers	DeG	root	Jos	ssart	PTS Contr	actors,Inc	Dorne	er, Inc.	David Tenor	Corporation
ITEM DESCRIPTION	QUANTITY	/ UNITS	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
B1 Furnish and install 6" PVC Water Main, 70 lineal feet, more or less, all complete for:	70	LF	\$71.00	\$4,970.00	\$69.00	\$4,830.00	\$92.50	\$6,475.00	\$71.00	\$4,970.00	\$62.95	\$4,406.50	\$90.00	\$6,300.00	\$137.00	\$9,590.00	\$194.00	\$13,580.00	\$125.00	\$8,750.00
B2 Furnish and install 8" PVC Water Main, 800 lineal feet, more or less, all complete for:	800	LF	\$71.00	\$56,800.00	\$89.00	\$71,200.00	\$106.50	\$85,200.00	\$90.00	\$72,000.00	\$73.98	\$59,184.00	\$91.00	\$72,800.00	\$112.00	\$89,600.00	\$132.00	\$105,600.00	\$155.00	\$124,000.00
B3 Furnish and install12" PVC Water Main, 3300 lineal feet, more or less, all complete for:	3300	LF	\$85.00	\$280,500.00	\$103.00	\$339,900.00	\$101.00	\$333,300.00	\$109.00	\$359,700.00	\$110.64	\$365,112.00	\$116.00	\$382,800.00	\$110.00	\$363,000.00	\$104.00	\$343,200.00	\$135.00	\$445,500.00
B4 Furnish and install 6" Water Valve, 5 each, more or less, all complete for:	5	EA	\$2,900.00	\$14,500.00	\$2,150.00	\$10,750.00	\$2,350.00	\$11,750.00	\$2,600.00	\$13,000.00	\$2,395.72	\$11,978.60	\$2,325.00	\$11,625.00	\$2,125.00	\$10,625.00	\$2,310.00	\$11,550.00	\$2,517.00	\$12,585.00
B5 Furnish and install 8" Water Valve, 12 each, more or less, all complete for:	12	EA	\$3,500.00	\$42,000.00	\$2,900.00	\$34,800.00	\$3,230.00	\$38,760.00	\$3,200.00	\$38,400.00	\$3,197.66	\$38,371.92	\$3,200.00	\$38,400.00	\$2,875.00	\$34,500.00	\$3,115.00	\$37,380.00	\$3,261.00	\$39,132.00
B6 Furnish and install 12" Water Valve, 8 each, more or less, all complete for:	8	EA	\$5,000.00	\$40,000.00	\$4,960.00	\$39,680.00	\$5,555.00	\$44,440.00	\$5,500.00	\$44,000.00	\$5,308.56	\$42,468.48	\$5,450.00	\$43,600.00	\$4,910.00	\$39,280.00	\$5,385.00	\$43,080.00	\$5,250.00	\$42,000.00
B7 Furnish and install 7.5' Bury Hydrants, 5 each, more or less, all complete for:	5	EA	\$7,000.00	\$35,000.00	\$6,330.00	\$31,650.00	\$7,100.00	\$35,500.00	\$6,500.00	\$32,500.00	\$6,733.67	\$33,668.35	\$6,400.00	\$32,000.00	\$6,440.00	\$32,200.00	\$6,915.00	\$34,575.00	\$6,460.00	\$32,300.00
B8 Furnish and install 1" water service set on 8" main, 2 each, more or less, all complete for:	2	EA	\$850.00	\$1,700.00	\$675.00	\$1,350.00	\$500.00	\$1,000.00	\$700.00	\$1,400.00	\$1,087.77	\$2,175.54	\$500.00	\$1,000.00	\$575.00	\$1,150.00	\$950.00	\$1,900.00	\$925.00	\$1,850.00
B9 Furnish and install 1" water service set on 12" main, 4 each, more or less, all complete for:	4	EA	\$750.00	\$3,000.00	\$700.00	\$2,800.00	\$525.00	\$2,100.00	\$750.00	\$3,000.00	\$1,080.70	\$4,322.80	\$525.00	\$2,100.00	\$600.00	\$2,400.00	\$975.00	\$3,900.00	\$945.00	\$3,780.00
B10 Furnish and install 1" water service, 360 lineal feet, more or less, all complete for:	360	LF	\$55.00	\$19,800.00	\$46.00	\$16,560.00	\$50.00	\$18,000.00	\$52.00	\$18,720.00	\$40.70	\$14,652.00	\$50.00	\$18,000.00	\$43.00	\$15,480.00	\$57.00	\$20,520.00	\$102.00	\$36,720.00
B11 Furnish and install Construction Staking for Water related items, 1 lump sum, more or less, all complete for:	1	LS	\$2,500.00	\$2,500.00	\$3,285.00	\$3,285.00	\$3,350.00	\$3,350.00	\$3,300.00	\$3,300.00	\$3,434.00	\$3,434.00	\$4,100.00	\$4,100.00	\$3,375.00	\$3,375.00	\$3,465.00	\$3,465.00	\$3,400.00	\$3,400.00
B12 Furnish and install Temporary water service, 100 lineal feet, more or less, all complete for:	100	LF	\$1.00	\$100.00	\$0.01	\$1.00	\$18.00	\$1,800.00	\$0.01	\$1.00	\$20.20	\$2,020.00	\$15.00	\$1,500.00	\$12.00	\$1,200.00	\$3.00	\$300.00	\$3,500.00	\$350,000.00
B13 Salvage Hydrants, Close Valves, and Remove Boxes, 1 Lump Sum, all complete for:	1	LS	\$10,000.00	\$10,000.00	\$3,900.00	\$3,900.00	\$4,660.00	\$4,660.00	\$5,000.00	\$5,000.00	\$4,545.00	\$4,545.00	\$4,000.00	\$4,000.00	\$2,550.00	\$2,550.00	\$1,950.00	\$1,950.00	\$6,500.00	\$6,500.00
B14 Pull Preparation and Setup for Copper Water Service Replacement, 6 each, more or less, all complete for:	6	EA	\$2,500.00	\$15,000.00	\$1,900.00	\$11,400.00	\$1,935.00	\$11,610.00	\$1,900.00	\$11,400.00	\$2,014.95	\$12,089.70	\$2,000.00	\$12,000.00	\$1,950.00	\$11,700.00	\$2,006.00	\$12,036.00	\$1,957.00	\$11,742.00
B15 Furnish and install 1" Private Water Service Replacement for existing copper - Pulled along with sewer, 100 lineal feet, more or less, all complete for:	100	LF	\$3.50	\$350.00	\$3.00	\$300.00	\$3.00	\$300.00	\$3.00	\$300.00	\$3.18	\$318.00	\$3.15	\$315.00	\$3.00	\$300.00	\$3.20	\$320.00	\$3.09	\$309.00
B16 Furnish and install 1" Private Water Service Replacement for existing copper - Pulled separate, 50 lineal feet, more or less, all complete for:	50	LF	\$3.50	\$175.00	\$3.00	\$150.00	\$3.00	\$150.00	\$3.00	\$150.00	\$3.18	\$159.00	\$3.15	\$157.50	\$3.00	\$150.00	\$3.20	\$160.00	\$3.09	\$154.50
B17 Provide interior water service reconnection for existing copper, 6 each, more or less, all complete for:	6	EA	\$225.00	\$1,350.00	\$200.00	\$1,200.00	\$200.00	\$1,200.00	\$200.00	\$1,200.00	\$212.10	\$1,272.60	\$210.00	\$1,260.00	\$205.00	\$1,230.00	\$211.00	\$1,266.00	\$206.00	\$1,236.00
B18 Provide new electrical grounding as required due to existing copper water service replacement, 6 each, more or less, all complete for:	6	EA	\$475.00	\$2,850.00	\$450.00	\$2,700.00	\$450.00	\$2,700.00	\$450.00	\$2,700.00	\$478.29	\$2,869.74	\$475.00	\$2,850.00	\$460.00	\$2,760.00	\$475.00	\$2,850.00	\$463.50	\$2,781.00
B19 Mid Pit Excavations for Copper Water Service Replacement, 6 each, more or less, all complete for:	6	EA	\$700.00	\$4,200.00	\$600.00	\$3,600.00	\$610.00	\$3,660.00	\$600.00	\$3,600.00	\$636.30	\$3,817.80	\$630.00	\$3,780.00	\$615.00	\$3,690.00	\$633.00	\$3,798.00	\$618.00	\$3,708.00
			UNIT B TOTAL	\$534,795.00	UNIT B TOTAL	\$580,056.00	UNIT B TOTAL	\$605,955.00	UNIT B TOTAL	\$615,341.00	UNIT B TOTAL	\$606,866.03	UNIT B TOTAL	\$638,587.50	UNIT B TOTAL	\$624,780.00	UNIT B TOTAL	\$641,430.00	UNIT B TOTAL	\$1,126,447.50

UNIT C - GENERAL/RESTORATION											_						_		_	
KENNETH AVENUE			ENGINEERS	S ESTIMATE	Fea	iker	Krı	ıczek	Carl E	owers	DeG	iroot	Jos	sart	PTS Cont	ractors,Inc	Dorne	er, Inc.	David Tenor	Corporation
ITEM DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	TOTAL PRICE																
C1 Furnish and install granular backfill as directed by Engineer, 200 tons, more or less, all complete for:	200	TON	\$16.50	\$3,300.00	\$14.95	\$2,990.00	\$19.00	\$3,800.00	\$13.75	\$2,750.00	\$20.91	\$4,182.00	\$25.00	\$5,000.00	\$18.00	\$3,600.00	\$18.70	\$3,740.00	\$18.00	\$3,600.00
C2 Furnish and install 1 1/4" dense graded base, 1500 tons, more or less, all complete for:	1500	TON	\$16.50	\$24,750.00	\$14.95	\$22,425.00	\$15.00	\$22,500.00	\$13.75	\$20,625.00	\$17.88	\$26,820.00	\$15.00	\$22,500.00	\$18.00	\$27,000.00	\$18.70	\$28,050.00	\$20.00	\$30,000.00
C3 Furnish and install 3" stone base, 200 tons, more or less, all complete for:	200	TON	\$16.50	\$3,300.00	\$14.30	\$2,860.00	\$15.00	\$3,000.00	\$13.75	\$2,750.00	\$18.18	\$3,636.00	\$20.00	\$4,000.00	\$18.00	\$3,600.00	\$18.70	\$3,740.00	\$22.00	\$4,400.00
C4 Furnish, install, full depth saw cutting of all pavements and walk, 1 Lump Sum, all complete for:	1	LS	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	\$27,500.00	\$27,500.00	\$25,500.00	\$25,500.00	\$26,765.00	\$26,765.00	\$4,000.00	\$4,000.00	\$26,000.00	\$26,000.00	\$24,665.00	\$24,665.00	\$4,225.00	\$4,225.00
C5 Furnish all prep work for asphalt overlay, including milling, butt joints, fine grading, etc., 1 Lump Sum, all complete for:	1	LS	\$150,000.00	\$150,000.00	\$95,750.00	\$95,750.00	\$82,000.00	\$82,000.00	\$95,750.00	\$95,750.00	\$101,542.88	\$101,542.88	\$100,000.00	\$100,000.00	\$98,500.00	\$98,500.00	\$101,088.00	\$101,088.00	\$100,750.00	\$100,750.00
C6 Adjust Existing Manholes with required rings, 8 each, more or less, all complete for:	8	EA	\$500.00	\$4,000.00	\$545.00	\$4,360.00	\$300.00	\$2,400.00	\$545.00	\$4,360.00	\$959.50	\$7,676.00	\$575.00	\$4,600.00	\$636.00	\$5,088.00	\$575.00	\$4,600.00	\$560.00	\$4,480.00
C7 Furnish and install 2" asphalt overlay, 21000 square yards, more or less, all complete for:	21000	SY	\$12.40	\$260,400.00	\$12.40	\$260,400.00	\$12.00	\$252,000.00	\$12.40	\$260,400.00	\$13.15	\$276,150.00	\$13.00	\$273,000.00	\$12.75	\$267,750.00	\$13.10	\$275,100.00	\$13.00	\$273,000.00
C8 Furnish and install 2" asphalt trench patch, 50 square yards, more or less, all complete for:	50	SY	\$22.00	\$1,100.00	\$26.50	\$1,325.00	\$24.50	\$1,225.00	\$26.50	\$1,325.00	\$28.11	\$1,405.50	\$28.00	\$1,400.00	\$27.30	\$1,365.00	\$28.00	\$1,400.00	\$27.30	\$1,365.00
C9 Furnish and install 2" asphalt patches for sidewalk and driveway patches, 100 tons, more or less, all complete for:	100	TON	\$250.00	\$25,000.00	\$245.00	\$24,500.00	\$200.00	\$20,000.00	\$245.00	\$24,500.00	\$259.82	\$25,982.00	\$260.00	\$26,000.00	\$252.00	\$25,200.00	\$258.70	\$25,870.00	\$257.25	\$25,725.00
C10 4" Epoxy Double Centerline Paint, Yellow,Furnish and install, 7400 linear feet, more or less	7000	LF	\$5.00	\$35,000.00	\$1.00	\$7,000.00	\$1.00	\$7,000.00	\$1.00	\$7,000.00	\$1.06	\$7,420.00	\$1.05	\$7,350.00	\$1.00	\$7,000.00	\$1.00	\$7,000.00	\$1.02	\$7,140.00
C11 Furnish and install turf restoration for all disturbed areas public work, 1 Lump Sum, all complete for:	1	LS	\$15,000.00	\$15,000.00	\$2,175.00	\$2,175.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,050.00	\$5,050.00	\$5,000.00	\$5,000.00	\$5,375.00	\$5,375.00	\$7,300.00	\$7,300.00	\$7,500.00	\$7,500.00
C12 Furnish, install, and maintain all erosion control, including all inlet proection, 1 Lump Sum, all complete for:	1	LS	\$3,000.00	\$3,000.00	\$4,380.00	\$4,380.00	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$2,525.00	\$2,525.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,650.00	\$3,650.00	\$5,500.00	\$5,500.00
C13 Furnish, install, and maintain traffic control, 1 Lump Sum, all complete for:	1	LS	\$8,000.00	\$8,000.00	\$8,450.00	\$8,450.00	\$13,300.00	\$13,300.00	\$7,600.00	\$7,600.00	\$10,100.00	\$10,100.00	\$9,000.00	\$9,000.00	\$8,700.00	\$8,700.00	\$6,850.00	\$6,850.00	\$8,750.00	\$8,750.00
C14 Furnish mobilization/demobilization of all needed equipment, 1 Lump Sum, all complete for:	1	LS	\$20,000.00	\$20,000.00	\$32,000.00	\$32,000.00	\$32,430.83	\$32,430.83	\$18,000.00	\$18,000.00	\$16,844.28	\$16,844.28	\$25,000.00	\$25,000.00	\$15,805.00	\$15,805.00	\$27,915.00	\$27,915.00	\$19,800.00	\$19,800.00
			UNIT C TOTAL	\$557,850.00	UNIT C TOTAL	\$493,615.00	UNIT C TOTAL	\$475,655.83	UNIT C TOTAL	\$478,560.00	UNIT C TOTAL	\$516,098.66	UNIT C TOTAL	\$491,850.00	UNIT C TOTAL	\$499,983.00	UNIT C TOTAL	\$520,968.00	UNIT C TOTAL	\$496,235.00

UNIT A TOTAL	\$286,357.50	UNIT A TOTAL	\$245,145.00	UNIT A TOTAL	\$251,722.50	UNIT A TOTAL	\$253,737.00	UNIT A TOTAL	\$267,269.45	UNIT A TOTAL	\$279,365.00	UNIT A TOTAL	\$297,363.00	UNIT A TOTAL	\$272,570.00	UNIT A TOTAL	\$354,113.40
UNIT B TOTAL	\$534,795.00	UNIT B TOTAL	\$580,056.00	UNIT B TOTAL	\$605,955.00	UNIT B TOTAL	\$615,341.00	UNIT B TOTAL	\$606,866.03	UNIT B TOTAL	\$638,587.50	UNIT B TOTAL	\$624,780.00	UNIT B TOTAL	\$641,430.00	UNIT B TOTAL	\$1,126,447.50
UNIT C TOTAL	\$557,850.00	UNIT C TOTAL	\$493,615.00	UNIT C TOTAL	\$475,655.83	UNIT C TOTAL	\$478,560.00	UNIT C TOTAL	\$516,098.66	UNIT C TOTAL	\$491,850.00	UNIT C TOTAL	\$499,983.00	UNIT C TOTAL	\$520,968.00	UNIT C TOTAL	\$496,235.00
TOTAL:	\$1,379,002.50	TOTAL:	\$1,318,816.00	TOTAL:	\$1,333,333.33	TOTAL:	\$1,347,638.00	TOTAL:	\$1,390,234.14	TOTAL:	\$1,409,802.50	TOTAL:	\$1,422,126.00	TOTAL:	\$1,434,968.00	TOTAL:	\$1,976,795.90

CITY OF KAUKAUNA

BB12 Furnish and install 1" Private Water Service Replacement, 125 lineal feet, more or less, all complete for:

BB14 Provide new electrical grounding as required due to water service replacement, 5 each, more or less, all complete for:

BB13 Provide interior water service reconnection, 5 each, more or less, all complete for:

BB15 Mid Pit Excavations for Water Service Replacement, 5 each, more or less, all complete for:

PROJECT 5-24 KENNETH AVENUE UTILITY RELAY - ARTHUR STREET ALTERNATE

ARTHUR STREET

125 LF

EA

EA

EA

5

\$3.50

\$3.50

\$500.00

\$600.00

\$437.50

\$17.50

\$2,500.00

\$3,000.00

\$205,839.11

\$3.00

\$200.00

\$450.00

\$375.00

\$1,000.00

\$2,250.00

\$3,000.00

\$180,865.11

\$3.00

\$200.00

\$460.00

\$6,100.00

\$375.00

\$1,000.00

\$2,300.00

\$30,500.00

\$225,540.00

\$3.00

\$200.00

\$450.00

\$375.00

\$1,000.00

\$2,250.00

\$3,000.00

\$205,569.00

\$3.18

\$212.10

\$477.23

\$397.50

\$1,060.50

\$2,386.15

\$3,181.50

\$225,282.95

\$3.15

\$210.00

\$475.00

\$393.75

\$1,050.00

\$2,375.00

\$3,150.00

\$215,260.75

\$3.10

\$205.00

\$460.00

\$387.50

\$1,025.00

\$2,300.00

\$3,075.00

\$209,254.50

\$3.20

\$210.00

\$475.00

\$400.00

\$1,050.00

\$2,375.00

\$220,645.00

\$3.09

\$206.00

\$463.50

\$386.25

\$1,030.00

\$2,317.50

\$3,090.00

\$334,881.25

	AKIHOK SIKEEI						1													
UNIT A - SANITARY SEWERS & LATERALS			ENGINEE	R ESTIMATE	Feake	r & Sons, Inc	Kruczek Cor	struction, Inc	Carl Bowe	ers & Sons, Inc	DeC	iroot, Inc	Jossart	Brothers, Inc.	PTS Con	tractors, Inc.	Dor	rner, Inc	David Ten	or Corporation
ITEM DESCRIPTION	QUANT	ITY UNITS	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AA1 Furnish and Install 8" PVC Sanitary Sewer, 1121 lineal feet, more or less, all complete for:	1153	LF	\$70.00	\$80,710.00	\$66.00	\$76,098.00	\$56.00	\$64,568.00	\$74.00	\$85,322.00	\$69.94	\$80,640.82	\$71.00	\$81,863.00	\$74.00	\$85,322.00	\$69.00	\$79,557.00	\$98.00	\$112,994.00
AA2 Furnish and Install 48" Diameter Sanitary Manhole, 45.3 vertical feet, more or less, all complete for	45.3	VF	\$500.00	\$22,650.00	\$575.00	\$26,047.50	\$725.00	\$32,842.50	\$525.00	\$23,782.50	\$595.66	\$26,983.40	\$575.00	\$26,047.50	\$650.00	\$29,445.00	\$596.00	\$26,998.80	\$620.00	\$28,086.00
AA3 Furnish and install Sanitary Sewer Main & Manhole Construction Staking, 1 lump sum, all complete	for: 1	LS	\$2,500.00	\$2,500.00	\$855.00	\$855.00	\$892.00	\$892.00	\$900.00	\$900.00	\$1,010.00	\$1,010.00	\$850.00	\$850.00	\$875.00	\$875.00	\$900.00	\$900.00	\$900.00	\$900.00
AA4 Furnish and install 4" PVC laterals in public right of way, 850 lineal feet, more or less, all complete	or: 850	LF	\$60.00	\$51,000.00	\$56.00	\$47,600.00	\$53.00	\$45,050.00	\$57.00	\$48,450.00	\$56.90	\$48,365.00	\$77.00	\$65,450.00	\$100.00	\$85,000.00	\$80.00	\$68,000.00	\$136.00	\$115,600.00
AA5 Furnish and install 6" PVC laterals in public right of way, 50 lineal feet, more or less, all complete for	·: 50	LF	\$62.00	\$3,100.00	\$60.00	\$3,000.00	\$75.00	\$3,750.00	\$60.00	\$3,000.00	\$59.59	\$2,979.50	\$82.00	\$4,100.00	\$104.00	\$5,200.00	\$86.00	\$4,300.00	\$163.00	\$8,150.00
AA6 Furnish and install 4" PVC private laterals excavated, 50 lineal feet including turf restoration, more	r less, all complete for: 50	LF	\$33.00	\$1,650.00	\$60.00	\$3,000.00	\$80.00	\$4,000.00	\$30.00	\$1,500.00	\$75.75	\$3,787.50	\$77.00	\$3,850.00	\$91.00	\$4,550.00	\$53.00	\$2,650.00	\$65.00	\$3,250.00
AA7 Furnish and install 6" PVC private laterals excavated, 50 lineal feet including turf restoration, more	r less, all complete for: 50	LF	\$43.00	\$2,150.00	\$64.00	\$3,200.00	\$85.00	\$4,250.00	\$40.00	\$2,000.00	\$80.80	\$4,040.00	\$82.00	\$4,100.00	\$96.00	\$4,800.00	\$61.00	\$3,050.00	\$68.00	\$3,400.00
AA8 Furnish and Pipe Burst 4" HDPE Private lateral to interior cleanout, 900 lineal feet, more or less, al	complete for: 900	LF	\$6.00	\$5,400.00	\$5.00	\$4,500.00	\$5.00	\$4,500.00	\$5.00	\$4,500.00	\$5.30	\$4,770.00	\$5.25	\$4,725.00	\$5.00	\$4,500.00	\$5.30	\$4,770.00	\$5.15	\$4,635.00
AA9 Furnish and Pipe Burst 6" HDPE Private lateral to interior cleanout, 30 lineal feet, more or less, all	omplete for: 30	LF	\$8.00	\$240.00	\$7.00	\$210.00	\$7.00	\$210.00	\$7.00	\$210.00	\$7.42	\$222.60	\$7.35	\$220.50	\$7.00	\$210.00	\$7.40	\$222.00	\$7.21	\$216.30
AA10 Mid Pit Excavations for Sanitary Sewer Lateral replacement, 5 each, more or less, all complete for	5	EA	\$600.00	\$3,000.00	\$1.00	\$5.00	\$1.00	\$5.00	\$1.00	\$5.00	\$1.06	\$5.30	\$1.05	\$5.25	\$1.00	\$5.00	\$1.00	\$5.00	\$1.03	\$5.15
AA11 Furnish and install new interior cleanout, including all interior connections, 32 Each, more or less, all	complete for: 32	EA	\$2,500.00	\$80,000.00	\$2,750.00	\$88,000.00	\$2,800.00	\$89,600.00	\$2,750.00	\$88,000.00	\$2,916.38	\$93,324.16	\$2,900.00	\$92,800.00	\$2,825.00	\$90,400.00	\$2,900.00	\$92,800.00	\$2,832.50	\$90,640.00
AA12 Furnish exterior connection for pipe bursting, including all restoration, 3 each, more or less, all compared to the content of the conte	lete for: 3	EA	\$1,750.00	\$5,250.00	\$2,000.00	\$6,000.00	\$2,000.00	\$6,000.00	\$2,000.00	\$6,000.00	\$2,121.00	\$6,363.00	\$2,100.00	\$6,300.00	\$2,060.00	\$6,180.00	\$2,110.00	\$6,330.00	\$2,060.00	\$6,180.00
AA13 Furnish and install new floor drain, including clean up and restoration, 15 each, more or less, all cor	plete for: 15	EA	\$125.00	\$1,875.00	\$100.00	\$1,500.00	\$100.00	\$1,500.00	\$100.00	\$1,500.00	\$106.05	\$1,590.75	\$105.00	\$1,575.00	\$102.00	\$1,530.00	\$105.00	\$1,575.00	\$103.00	\$1,545.00
AA14 Furnish and install backflow valve, including all associated work, 10 each, more or less, all complet	for: 10	EA	\$200.00	\$2,000.00	\$200.00	\$2,000.00	\$200.00	\$2,000.00	\$200.00	\$2,000.00	\$212.10	\$2,121.00	\$210.00	\$2,100.00	\$205.00	\$2,050.00	\$210.00	\$2,100.00	\$206.00	\$2,060.00
AA15 Furnish and Install sump pit, including all associated work, 10 each, more or less, all complete for:	10	EA	\$250.00	\$2,500.00	\$250.00	\$2,500.00	\$250.00	\$2,500.00	\$250.00	\$2,500.00	\$265.13	\$2,651.30	\$263.00	\$2,630.00	\$255.00	\$2,550.00	\$265.00	\$2,650.00	\$257.50	\$2,575.00
AA16 Provide televising for all new sanitary sewer main, 1121 lineal feet, more or less, all complete for:	1153	LF	\$1.40	\$1,614.20	\$1.75	\$2,017.75	\$1.00	\$1,153.00	\$2.00	\$2,306.00	\$1.60	\$1,844.80	\$1.40	\$1,614.20	\$1.70	\$1,960.10	\$1.40	\$1,614.20	\$1.36	\$1,568.08
AA17 Provide televising for all new sanitary sewer laterals, 34 each, more or less, all complete for:	34	EA	\$125.00	\$4,250.00	\$135.00	\$4,590.00	\$138.00	\$4,692.00	\$95.00	\$3,230.00	\$141.40	\$4,807.60	\$140.00	\$4,760.00	\$135.00	\$4,590.00	\$145.00	\$4,930.00	\$139.00	\$4,726.00
		·	UNIT TOTAL	\$269,889.20	UNIT TOTAL	\$271,123.25	UNIT TOTAL	\$267,512.50	UNIT TOTAL	\$275,205.50	UNIT TOTAL	\$285,506.73	UNIT TOTAL	\$302,990.45	UNIT TOTAL	\$329,167.10	UNIT TOTAL	\$302,452.00	UNIT TOTAL	\$386,530.53
UNIT B - WATER MAINS & SERVICES						-		1			_									
ITEM DESCRIPTION	-	ITY UNITS		TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
BB1 Furnish and install 6" PVC Water Main, 16 lineal feet, more or less, all complete for:	16	LF	\$80.00	\$1,280.00	\$70.00	\$1,120.00	\$115.00	\$1,840.00	\$71.00	\$1,136.00	\$58.50	\$936.00	\$80.00	\$1,280.00	\$126.00	\$2,016.00	\$165.00	\$2,640.00	\$90.00	\$1,440.00
BB2 Furnish and install 8" PVC Water Main, 1211 lineal feet, more or less, all complete for:	1211	LF	\$72.00	\$87,192.00	\$68.00	\$82,348.00	\$70.00	\$84,770.00	\$72.00	\$87,192.00	\$75.96	\$91,987.56	\$82.00	\$99,302.00	\$76.00	\$92,036.00	\$72.00	\$87,192.00	\$115.00	\$139,265.00
BB3 Furnish and install 6" Water Valve, 2 each, more or less, all complete for:	2	EA	\$2,750.00	\$5,500.00	\$2,150.00	\$4,300.00	\$2,360.00	\$4,720.00	\$2,600.00	\$5,200.00	\$2,395.72	\$4,791.44	\$2,325.00	\$4,650.00	\$2,125.00	\$4,250.00	\$2,310.00	\$4,620.00	\$2,222.00	\$4,444.00
BB4 Furnish and install 8" Water Valve, 2 each, more or less, all complete for:	2	EA	\$3,350.00	\$6,700.00	\$2,900.00	\$5,800.00	\$3,230.00	\$6,460.00	\$3,200.00	\$6,400.00	\$3,197.66	\$6,395.32	\$3,200.00	\$6,400.00	\$2,875.00	\$5,750.00	\$3,115.00	\$6,230.00	\$3,020.00	\$6,040.00
BB5 Furnish and install 7.5' Bury Hydrants, 2 each, more or less, all complete for:	2	EA	\$7,000.00	\$14,000.00	\$6,330.00	\$12,660.00	\$7,100.00	\$14,200.00	\$6,500.00	\$13,000.00	\$6,733.67	\$13,467.34	\$6,400.00	\$12,800.00	\$6,440.00	\$12,880.00	\$6,915.00	\$13,830.00	\$6,460.00	\$12,920.00
BB6 Furnish and install 1" water service set on 8" main, 36 each, more or less, all complete for:	36	EA	\$750.00	\$27,000.00	\$675.00	\$24,300.00	\$500.00	\$18,000.00	\$700.00	\$25,200.00	\$1,037.41	\$37,346.76	\$500.00	\$18,000.00	\$575.00	\$20,700.00	\$950.00	\$34,200.00	\$925.00	\$33,300.00
BB7 Furnish and install 1" water service, 900 lineal feet, more or less, all complete for:	900	LF	\$48.00	\$43,200.00	\$46.00	\$41,400.00	\$51.50	\$46,350.00	\$52.00	\$46,800.00	\$49.73	\$44,757.00	\$56.00	\$50,400.00	\$56.00	\$50,400.00	\$65.00	\$58,500.00	\$120.00	\$108,000.00
BB8 Furnish and install Construction Staking for Water related items, 1 lump sum, all complete for:	1	LS	\$2,500.00	\$2,500.00	\$950.00	\$950.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,111.00	\$1,111.00	\$1,050.00	\$1,050.00	\$975.00	\$975.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
BB9 Furnish and install Temporary water service, 1211 lineal feet, more or less, all complete for:	1211	LF	\$0.01	\$12.11	\$0.01	\$12.11	\$10.00	\$12,110.00	\$6.00	\$7,266.00	\$11.68	\$14,144.48	\$10.00	\$12,110.00	\$10.00	\$12,110.00	\$3.00	\$3,633.00	\$16.00	\$19,376.00
BB10 Salvage Hydrants, Close Valves, and Remove Boxes, 1 Lump Sum, all complete for:	1	LS	\$2,500.00	\$2,500.00	\$600.00	\$600.00	\$1,165.00	\$1,165.00	\$5,000.00	\$5,000.00	\$2,525.00	\$2,525.00	\$1,500.00	\$1,500.00	\$580.00	\$580.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
BB11 Pull Preparation and Setup for Water Service Replacement, 5 each, more or less, all complete for	5	EA	\$2,000.00	\$10,000.00	\$150.00	\$750.00	\$150.00	\$750.00	\$150.00	\$750.00	\$159.08	\$795.40	\$160.00	\$800.00	\$154.00	\$770.00	\$160.00	\$800.00	\$154.50	\$772.50

UNIT C - GENERAL/RESTORATION	Ī	-																		
TEM DESCRIPTION	QUANTIT	UNITS	UNIT PRICE	TOTAL PRICE																
CC1 Furnish and install granular backfill as directed by Engineer, 500 tons, more or less, all complete for:	500	TON	\$14.00	\$7,000.00	\$14.95	\$7,475.00	\$17.00	\$8,500.00	\$13.75	\$6,875.00	\$20.71	\$10,355.00	\$25.00	\$12,500.00	\$18.00	\$9,000.00	\$18.70	\$9,350.00	\$18.00	\$9,000.00
CC2 Furnish and install 1 1/4" dense graded base, 2100 tons, more or less, all complete for:	2100	TON	\$14.00	\$29,400.00	\$14.95	\$31,395.00	\$15.00	\$31,500.00	\$13.75	\$28,875.00	\$17.88	\$37,548.00	\$15.00	\$31,500.00	\$18.00	\$37,800.00	\$18.70	\$39,270.00	\$20.00	\$42,000.00
CC3 Furnish and install 3" stone base, 500 tons, more or less, all complete for:	500	TON	\$14.00	\$7,000.00	\$14.30	\$7,150.00	\$15.00	\$7,500.00	\$13.75	\$6,875.00	\$18.18	\$9,090.00	\$20.00	\$10,000.00	\$18.00	\$9,000.00	\$18.70	\$9,350.00	\$22.00	\$11,000.00
CC4 Furnish, install, full depth saw cutting of all pavements and walk, 1 Lump Sum, all complete for:	1	LS	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00	\$11,700.00	\$11,700.00	\$12,000.00	\$12,000.00	\$12,726.00	\$12,726.00	\$4,000.00	\$4,000.00	\$16,500.00	\$16,500.00	\$11,525.00	\$11,525.00	\$3,300.00	\$3,300.00
CC5 Furnish all prep work for asphalt overlay and trench patching, including milling, butt joints, fine grading, etc., 1 Lump Sum, all complete for:	1	LS	\$30,000.00	\$30,000.00	\$23,560.00	\$23,560.00	\$21,000.00	\$21,000.00	\$23,560.00	\$23,560.00	\$24,985.38	\$24,985.38	\$25,000.00	\$25,000.00	\$24,225.00	\$24,225.00	\$24,875.00	\$24,875.00	\$27,000.00	\$27,000.00
CC6 Furnish and install materials to Adjust existing Manholes, 5 each, more or less, all complete for:	5	EA	\$600.00	\$3,000.00	\$545.00	\$2,725.00	\$300.00	\$1,500.00	\$545.00	\$2,725.00	\$959.50	\$4,797.50	\$575.00	\$2,875.00	\$635.00	\$3,175.00	\$575.00	\$2,875.00	\$575.00	\$2,875.00
CC7 Furnish and install 2" asphalt overlay, 4500 square yards, more or less, all complete for:	4500	SY	\$12.50	\$56,250.00	\$12.40	\$55,800.00	\$12.00	\$54,000.00	\$12.40	\$55,800.00	\$13.15	\$59,175.00	\$13.00	\$58,500.00	\$12.75	\$57,375.00	\$13.10	\$58,950.00	\$13.15	\$59,175.00
CC8 Furnish and install 2" asphalt patches for sidewalk and driveway patches, 50 tons, more or less, all complete for:	50	TON	\$250.00	\$12,500.00	\$245.00	\$12,250.00	\$200.00	\$10,000.00	\$245.00	\$12,250.00	\$259.82	\$12,991.00	\$260.00	\$13,000.00	\$250.00	\$12,500.00	\$259.00	\$12,950.00	\$257.25	\$12,862.50
CC9 Furnish and install turf restoration for all disturbed areas public work, 1 Lump Sum, all complete for:	1	LS	\$6,000.00	\$6,000.00	\$3,590.00	\$3,590.00	\$5,000.00	\$5,000.00	\$7,200.00	\$7,200.00	\$13,635.00	\$13,635.00	\$5,000.00	\$5,000.00	\$3,900.00	\$3,900.00	\$9,815.00	\$9,815.00	\$11,000.00	\$11,000.00
CC10 Furnish, install, and maintain all erosion control, including all inlet protection, 1 Lump Sum, all complete for:	1	LS	\$2,000.00	\$2,000.00	\$1,080.00	\$1,080.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$2,020.00	\$2,020.00	\$2,000.00	\$2,000.00	\$900.00	\$900.00	\$1,215.00	\$1,215.00	\$3,000.00	\$3,000.00
CC11 Furnish, install, and maintain traffic control, 1 Lump Sum, all complete for:	1	LS	\$3,000.00	\$3,000.00	\$930.00	\$930.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$6,565.00	\$6,565.00	\$1,200.00	\$1,200.00	\$950.00	\$950.00	\$1,600.00	\$1,600.00	\$1,200.00	\$1,200.00
CC12 Furnish mobilization/demobilization of all needed equipment, 1 Lump Sum, all complete for:	1	LS	\$25,000.00	\$25,000.00	\$13,875.00	\$13,875.00	\$10,000.00	\$10,000.00	\$10,200.00	\$10,200.00	\$7,445.72	\$7,445.72	\$12,000.00	\$12,000.00	\$7,665.00	\$7,665.00	\$15,550.00	\$15,550.00	\$11,650.00	\$11,650.00
			UNIT TOTAL	\$184,150.00	UNIT TOTAL	\$174.830.00	UNIT TOTAL	\$165,700.00	UNIT TOTAL	\$168.360.00	UNIT TOTAL	\$201.333.60	UNIT TOTAL	\$177.575.00	UNIT TOTAL	\$182,990.00	UNIT TOTAL	\$197.325.00	UNIT TOTAL	\$194.062.50

SUB-TOTAL UNIT A	\$269,889.20	SUB-TOTAL UNIT A	\$271,123.25	SUB-TOTAL UNIT A	\$267,512.50	SUB-TOTAL UNIT A	\$275,205.50	SUB-TOTAL UNIT A	\$285,506.73	SUB-TOTAL UNIT A	\$302,990.45	SUB-TOTAL UNIT A	\$329,167.10	SUB-TOTAL UNIT A	\$302,452.00	SUB-TOTAL UNIT A	\$386,530.53
SUB-TOTAL UNIT B	\$205,839.11	SUB-TOTAL UNIT B	\$180,865.11	SUB-TOTAL UNIT B	\$225,540.00	SUB-TOTAL UNIT B	\$205,569.00	SUB-TOTAL UNIT B	\$225,282.95	SUB-TOTAL UNIT B	\$215,260.75	SUB-TOTAL UNIT B	\$209,254.50	SUB-TOTAL UNIT B	\$220,645.00	SUB-TOTAL UNIT B	\$334,881.25
SUB-TOTAL UNIT C	\$184,150.00	SUB-TOTAL UNIT C	\$174,830.00	SUB-TOTAL UNIT C	\$165,700.00	SUB-TOTAL UNIT C	\$168,360.00	SUB-TOTAL UNIT C	\$201,333.60	SUB-TOTAL UNIT C	\$177,575.00	SUB-TOTAL UNIT C	\$182,990.00	SUB-TOTAL UNIT C	\$197,325.00	SUB-TOTAL UNIT C	\$194,062.50
TOTAL BASE BID	\$659,878.31	TOTAL BASE BID	\$626,818.36	TOTAL BASE BID	\$658,752.50	TOTAL BASE BID	\$649,134.50	TOTAL BASE BID	\$712,123.28	TOTAL BASE BID	\$695,826.20	TOTAL BASE BID	\$721,411.60	TOTAL BASE BID	\$720,422.00	TOTAL BASE BID	\$915,474.28